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b If a homozygous red tulip is crossed with a homozygous white tulip (rc:: l;a:ld mw]l::‘l A
flowers are codominant) what proportion of the offspring do you expect pi

work!

7 In a certain series of matings between normal pigs, 38
offspring were born. Of these 29 were normal and 9 had greatly
swollen forelegs. The latter lived only a few hours. Explain
the genetic basis for these results?

8 Albinism is lethal in plants, yet many species of plant
produce albinos among their offspring. If albino plants always
die before reproducing, why does the character not become
eliminated?

‘1 In human beings, the allele for the condition called
hitchhiker's thumb (h) is recessive to that for the normal
condition (H). From the study of the pedigree chart below give
the probable genotype of each individual represented. The
squares symbolize males and the circles females. The solid
Squares and circles represent individuals with hitch-hiker's
thumb.

ID The French biologist Cuenot crossed wild, gray-colored mice
with white mice. In the first generation all were gray. From
many litters he obtained in the F2 198 gray and 72 white mice.

(a) Propose a hypothesis to explain these results.
(b) On the basis of the hypothesis diagram the cross
and compare the observed results with those

expected.

| . Tay-Sachs syndrome is a fatal infant condition caused by the possession of two
recessive alleles. .
If two parents carry the Tay-Sachs gene, what is the chance that they will have a diseased
child? Show work!

ine disease is a rare disease that runs in families. It is so called
l&i&zm&?&ﬁz:ms the urine of affected babies to hav:] an ;do:i::m:
syrup. The babies die at an early age if not u'eated The parents are lr:o enx; s
by these symptoms. If we assume thqt the disease is caused by a single gene,
receccive nr a dominant cene? Fxnlain vour answer.




